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QUIZ Solving Sine and Cosine Equations 11-22-16 Hour 123456 7
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1. Solve the following trigonometric equation — sin (x)+2==

Give three EXACT solutions and their approximations
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This may be helpful

Show necessary work here
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Approximation (round to three decimals) S 1

Approximation (round to three decimals) 23 30

Approximation (round to three decimals) 5, 2F
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2. Solve the following trigonometric equation 7cos (x) -2=—

Give three EXACT solutions and their approximations
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This may be helpful
Show necessary work here
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Approximation (round to three decimals)
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3. Solve the following trigonometric equation 4 sin [% Xi—= %r_] -2= —;— \ \
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